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HERA1E (40)
tERLEREF 1341 B EEG) - Z| 1265 76 2 12 16 28 26 1400% 0 36.84%
E B A1(1220)
tEREER 183 HERARE(2) 2 181 5 2 5 7 2 140% 0 3.86%
CERIRIERE 182 g%g;ﬁg? ) 15 167 5 5 0 5 0 100% 0 2.99%
bR b Eh &L 39 B FE (1) 1 38 1 1 0 1 0 100% 0 2.63%
bR S &L 39 B FE (1) 1 38 1 2 0 2 1 200% 0 5.26%
LR E M &R 46 0 46 1 1 0 1 0 100% 0 2.17%
CiER R 2 &R 40 0 40 1 3 0 3 2 300% 0 7.5%
CE R CE M U SS 75 P 121 HERARE(3) 3 118 3 5 4 9 6 300% 0 7.62%
{CE R B A BV B 75 P 39 0 39 1 2 2 4 3 400% 0 10.25%
bR = B S 50 HERAR (L) 1 49 1 4 0 4 3 400% 0 8.16%
8 HEAHE(15)
EERM A RER 129 B EF(3) 18 111 3 4 0 4 1 133% 0 3.6%
LR LT PEAT 38 HERAE (D) 1 37 1 3 0 3 2 300% 0 8.1%
HERREER) B
1tERE B 393 Bi=Er(8) ~ HRA| 342 51 1 2 0 2 1 200% 0 3.92%
BE{11(331)
yr=:] . B2
TEEBUER 128 %E;gw a 11 117 3 7 1 8 5 266% 0 6.83%
CEREI BB EFR 45 HERARE (L) 1 44 1 2 2 4 3 400% 0 9.09%
TEERICETR QM 459 Lh R A 7 (55) 55 404 12 34 2 36 24 300% 0 8.91%
TEEBBME AR 116 LR A F(18) 18 98 2 5 0 5 3 250% 0 5.1%
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- BIRAY e A8 | ERAg],. FEREAR| BAZL s FB(C)=(B)-(A) i MR Y AE | I
BAZ(A) (B)=(B1)+(B2) ZB7ntE e
(B1) (B2) Bt
(%) (B/IA) (%)
ez ag HERRE@4) - B
“BEN no )
TEEBEEE AR 112 =) 5 107 3 5 0 5 2 166% 0 4.67%
TEEERRRTM AR AP 220 HERARE(4) 4 216 6 7 5 12 6 200% 0 5.55%
pi et s YN 386 0 386 11 19 2 21 10 190% 0 5.44%
I HERARAE(30)
= AN
TEEBELH AR 172 B EF(2) 32 140 4 10 0 10 6 250% 0 7.14%
TEEBIER AR 100 %E;ﬁm # 2 98 2 5 2 7 5 350% 0 7.14%
pisea Y St YN 109 B FE (1) 1 108 3 4 0 4 1 133% 0 3.7%
-3 Bz, T Iﬂﬁ;\[x%ﬁ(ll) ~
Y=V N A )
TEE B Im B AT 148 B EF(2) 13 135 4 7 0 7 3 175% 0 5.18%
CERER AR 80 HERARE(3) 3 77 2 3 0 3 1 150% 0 3.89%
CEERAE MR AP 376 HERATE () 7 369 11 19 4 23 12 209% 0 6.23%
bR 2 E AP 230 HERARE(3) 3 227 6 7 5 12 6 200% 0 5.28%
pisea = VNS 105 HERAE(2) 2 103 3 5 4 9 6 300% 0 8.73%
CERIEESRTEER 50 HERARE (L) 1 49 1 1 0 1 0 100% 0 2.04%
CERUSHERE S 50 HERARE (L) 1 49 1 2 0 2 1 200% 0 4.08%
tERUICERER A 120 BRERR (1) 1 119 3 2 2 4 1 133% 0 3.36%
CEFRUERERPE 204 BHEFH2) 2 202 6 7 0 7 1 116% 0 3.46%
TEFUEEERTE 103 HERATE(3) 3 100 3 3 0 3 0 100% 0 3%
tERII—RER A 34 0 34 1 0 2 2 1 200% 0 5.88%
TEFRUEEERTE 67 HERATE (D) 1 66 1 2 0 2 1 200% 0 3.03%
LRI E R 8 45 0 45 1 1 2 3 2 300% 0 6.66%
CERUEZER A 45 0 45 1 1 0 1 0 100% 0 2.22%
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CER I B MER &2 50 0 50 1 1 0 1 0 100% 0 2%
EERICERR A 44 HERARE (L) 1 43 1 2 0 2 1 200% 0 4.65%
EERIUIGERR A 49 0 49 1 1 0 1 0 100% 0 2.04%
TERIIEERRTE 80 HERARE(2) 2 78 2 2 0 2 0 100% 0 2.56%
EERIIHBER A 90 HERARE(2) 2 88 2 1 2 3 1 150% 0 3.4%
EERECERTE 68 0 68 2 2 0 2 0 100% 0 2.94%
CERICEMREER/NE 49 0 49 1 1 0 1 0 100% 0 2.04%
tERITEMRRER/NE 163 HERARE(2) 2 161 4 6 0 6 2 150% 0 3.72%
CERITEMRRERER/NE 81 HERARE(2) 2 79 2 1 2 3 1 150% 0 3.79%
bR CE AR R/ 62 HERAR (L) 1 61 1 3 0 3 2 300% 0 4.91%
tERICET P ERRNE 133 ﬁ\ﬁiﬁfﬁ(” CHE 2 131 3 5 0 5 2 166% 0 3.81%

B =ER (1)

tERTENERER/NE 38 0 38 1 1 0 1 0 100% 0 2.63%
CERICETNPERR/)NE 56 HERAR (L) 1 55 1 1 0 1 0 100% 0 1.81%
CERITENRZER/)NE 78 0 78 2 3 0 3 1 150% 0 3.84%
CERICEhEaER/ )2 81 HERAE(2) 2 79 2 1 2 3 1 150% 0 3.79%
LSRR RTI AR I B R /) B2 56 0 56 1 3 0 3 2 300% 0 5.35%
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TEERITA AT EE /& 67 0 67 2 0 4 4 2 200% 0 5.97%

TERELHNELER/NE 117 HERARE (L) 1 116 3 2 2 4 1 133% 0 3.44%

TERESZHEEHER/NE 140 HERAR (L) 1 139 4 2 2 4 0 100% 0 2.87%

tERES T HEaER/NE 42 0 42 1 1 0 1 0 100% 0 2.38%

CEREZMECRER/NE 46 HERARE (L) 1 45 1 3 0 3 2 300% 0 6.66%

TERELHLEHER/NE 79 HERARE (L) 1 78 2 2 0 2 0 100% 0 2.56%

tERBMERMBER/NE 61 HERARE(2) 2 59 1 3 0 3 2 300% 0 5.08%

CERIn T In TR/ 44 HERARE(2) 2 42 1 0 2 2 1 200% 0 4.76%

tEREEELEER/)NE 70 HERAR (L) 1 69 2 4 0 4 2 200% 0 5.79%

tEREEEDHER/NE 46 0 46 1 0 2 2 1 200% 0 4.34%
TEsER . HERRE2) - B

TEERELHILERER/NE 107 =) 3 104 3 3 0 3 0 100% 0 2.88%

CERITENTRER/NE 94 BRER (1) 1 93 2 1 2 3 1 150% 0 3.22%

CEE RN 11727 1974 9753 205 320 108 428 223 208% 0 0 4.38%




